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c = 0.1;
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[ 1 ; sgrt{2)];
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[ 1 ; O 1;
C1

[ 01 ; 00 1;
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[ 0 -1 ];

D11 [ 1 ; 0 1;
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D22 zeros (1, 1) ;

p = ge{Aa, [ BL B2 1, [CL ; C2 1, [ D11 D12 ; D21 D22 1}
sys = pck{a, | Bl B2 1, [ c1; ¢21, [ D11 D12 ; D21 D22 1);

[K,CL,GAM] = hinfsyn{P,l,l,O,z,O.Dl);
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Besetting value of Gamma min hased on D11, D_12, D_21 terms
Test bounds: 1.0000 « gamma <= 2, 00a0 %5

ganm hamx_eig wxinf_eig hamy_eig yinf.eig nrhoxy p/f s
—5 000 2.d4e+000 2.5e-001 7.1e-001 0.0ev000  0.0000 P 3
| 1,500 2.6e+000 2.8e-001 7.1e-00I 3.7e-017 0.0000 .
Licet™ | 1,250 2,9e+000 ~8.4e+001# 7.1e-00 0.0e+000 0.0000 (&)
| 375 ©.7g+000 2.9e-001 7.7e-001 0.Ce+D00  0.0000  »
. 413 2.8e+000 3.0e-001 7.1e-001 0.0e+000 00000 P
| o8] 2.8e+000 -6.5e+00P¥ 7. 1e-001 0.0e+000  0.0000 (i)
\/ 1297 2.8e+000 3.0-001 7.1e-001 D0.0es00D  0.0000
' omg 2.8e+000 3.1e-001 7.1e-001 0.Ce+000  0.0000 o

Gamma value achieved: 1.2%3;)




